









































































































































































































































































































































































































































































Recurrence Relation T n 27 2 1

Solving 9 2 5 2 k o p O

n 0695 69 n

c
Marks

ʳ TÉ To
20 0 1

7 90
To

IE
A 11

Ques 3
Marks

V
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V9 2 V2
3 4

Mst cost
1251

2 3 3 3 4 6
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